
1.)  The first step is to gather your 
materials.

You should have the following:
1)  Eight (8) 5/16” wing nuts
2)  Four (4) 5/16” long bolts
3)  Four (4) 1/4” bolts
4)  Four (4) 1/4” wing nuts
5)  Two (2) metal brackets
6)  One (1) base piece
7)  Two (2) wooden uprights
8)  Two (2) side pieces
9)  One (1) water balloon pouch 

with bungee cords

6

5

21

3

4

7

8

9


